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1 Introduction
In the last meeting some agreements were made in the GTW but on further discussion they were potentially revised. The WF (R4-2203024) on OOB gain and ACRR has 2 options to show this.
In this discussion paper we give our view on the 2 options.
2 Discussion
In some cases there are a number of perhaps independent changes between option 1 and option 2, we have discussed each change separately. Its not clear if the whole of any option needs to be agreed as state in the WF or if it is ok to have a hybrid. This can be further discussed in the meeting.
2.1	OOB gain
2.1.1	WA/MR class
The differences between the 2 options is
The frequency breakpoint (option 1= 2GHz, option 2= 2.5GHz)
ACRR is 45dBc for option 1 but only 33dBc for all except below 2.5GHz DL for option 2
*This is somewhat contradicted in the ACRR section where it appears to imply that 33dBc has been agreed?
For the frequency breakpoint, we are ok with option 2, this means band n1 is included in the lower band (as well as a number of others). Band n1 especially is a well-established band and was part of the UTRA and E-UTRA repeater specs so it’s a good idea to keep it linked to those requirements.
Proposal 1: Use the breakpoint of 2.5GHz
It should be noted that a couple of band straddle the break point (n41 and n90 for example) so it should be made clear what is to be done in that scenario. It would seem the easiest way would be if any part of the band is in the spectrum with the tougher requirements (i.e. lower part) then this requirement apply to the whole band. Of course the repeater pass-band is not necessarily the same as the operating band so this should apply to the pass-band of the repeater.
Proposal 2: if any part of the pass-band is below 2.5GHz use the requirements for below 2.5GHz. 
For the ACRR, both agree that for below 2.5GHz for DL 45dBc is used.
For DL above 2.5GHz option 2 proposes the ACRR is 33dBc. Whilst additional PL at the higher frequencies may reduce the chance of interference, the difference between 2GHz and 3GHz in terms of PL is only 3.5dB and it’s possible the potential for higher gain antennas (due to the reduced size at higher freq) may negate that. Even the difference between 2 and 6GHz is only 9.5dB whereas the proposed change is 12dB.
As ACRR is for outside the passband it seems to the potential to increase the interference to other operators channels is high so we thing we should maintain 45dBc. 
Proposal 3: Maintain 45dBc ACRR in DL above 2.5GHz
Option 2 also proposed to use 33dBc ACRR in the UL both above and below 2.5GHz, there seems to be some contradictions in the WF between the OOB band section and the ACRR section on this issue however, in both option 1 and option 2 it seems 33dBc has been agreed of UL ACRR. 
For the WA UL class with no power limit the ACLR is 45dBc. As ACRR is potentially generating interference in the same channel as the ACLR we see little point is have a strict 45dBc requirement for ACLR and only 33dBc for ACRR. As we do not wish to revisit the ACLR agreement at this stage ACRR should also be 45dBc.
We do not wish to change any firm agreements but think the agreement in the OOB gain section is more appropriate.
Proposal 4: We do not wish to change any agreements on ACRR unless they are open in this WF but there seems to be some contradictions, we agree with option 1 for OOB gain section that UL ACRR should at least as good as ACLR i.e. 45dBc.
Most of the proposals agree with option 1 with the exception of the frequency break point. It’s not clear if the breakpoint is so important if option 1 is used however.
2.1.2	LA repeater class
Option 1 and option 2 seem to be the same in this case
2.2	ACRR
2.2.1	UL
Both options state “For UL assume 33dB” as there is a contradiction to this in option 1 for OOB gain its not clear if this is a fixed agreement or not. As stated in proposal 4, we do not want to go back and change any agreements but out view is that ACRR should be at least as tough as ACLR and as ACLR for WA is 45dBc then it should be the same for ACRR.
The main difference between option 1 and option 2 is the value for LA ACRR, option 1 is 33dBc and option 2 is [20] dBc. As with the other classes we see no point in the ACRR being worse than the ACLR so option 1 is preferred. Although iN WF R4-2203026 its was agreed that LA UL ACLR would be 31dBc, so this would also be acceptable 
Proposal 5: For UL LA ACRR option 1 is preferred (although the agreed 31dBc for UL LA ACLR is also ok)
2.2.2	DL
Once again these issues are present in both the OOB gain discussion and the ACLR discussion. The same argument applies that we see it as problematic for the ACRR to be worse than the ACLR, Option 1 once again seems to be the correct option
Proposal 6: For DL ACRR option 1 is preferred
Summary
This paper looks at the 2 options shown in the WF on FR1 OOB gain and ACRR. There seems to be some contradictions between the OOB gain discussion and the ACRR discussing when setting the ACRR for WA/MR classes. Its not clear if the WF has options that clear this up. We do not want to change any agreements but have tried to give views on the open issues in the WF with the following proposals:
Proposal 1: Use the breakpoint of 2.5GHz
Proposal 2: if any part of the pass-band is below 2.5GHz use the requirements for below 2.5GHz. 
Proposal 3: Maintain 45dBc ACRR in DL above 2.5GHz
Proposal 4: We do not wish to change any agreements on ACRR unless they are open in this WF but there seems to be some contradictions, we agree with option 1 for OOB gain section that UL ACRR should at least as good as ACLR i.e. 45dBc.
Proposal 5: For UL LA ACRR option 1 is preferred (although the agreed 31dBc for UL LA ACLR is also ok).
Proposal 6: For DL ACRR option 1 is preferred
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